* B H A AR R

Bikx%Eh 108 # 4 7 16 B%‘T#“i’%\»? % 1080662600 F o> 2
T k2% B0 EY 2 2% EE & *ﬁ,ﬁ,-,zz.Jggggingjzg
138 % 19 eid4 1B 2202 Ea R

B FER | EF | 2| OB | A% % FE | RAg s
= E | gy | RO | R i 2R (A4 %
(A) (B) (C)

2 |- AR | %12 %50 | At E |A=1-3 | (- ) p & |C=1~2 |6+ = =(AxBxCx1
P | i e S X iEE A +2F ) =21+ 2
L2 2% |2 F =~ % 2 B
@‘31,?1\& b6 (7 )wim
R E + A w1
oA R poAYE
PEIRNCI? R4 Foip kB oiE
£ Al oz N O
Fo¢ o4 oa % > B=1
R (=) p=*

T M SNV
TR R % 2.
cd () wpm
w1 &
PogER
N I
S S
wosh 2
7] Ok fE =
ﬁ(,ii\gét
1x- >B=
:)(iég'—éc 1
(ki
F 1l =
B=2; % #
' F 2
% B=3>
LN




o)

A=3 B=1 C=1 3x1x1x1,200=3,600

U

\w
&@:

EFE

>+

ARARR (A) FRIGRP © - BRER P P R RJR B AR R 0 2R
KAEZ LA P EY LA P PHMEREFPU T TL R AREFLAARRITRY B
PERR I ARIYRIEF 2 2RI P ERi e b BB e RO RPN AT
GRS REE A (R B BRNE ) AEAR N AR (A) BERE R
e T_A=3 o




